Marepuan 11 npoBeeHNs IPOMEKYTOYHOI aTTecTaluu
M0 aHIVIHIICKOMY SI3bIKY B 9X KJjaccax
(TecTUpoOBaHME)

COAEP/KAHUE U CTPYKTYPA
KOHTPOJIBHBIX U3MEPUTEJIBHBIX MATEPUAJIOB

Marepuan ajisg OpoBeAeHUsI MPOMEKYTOUHOM aTTecTallii B 9 Kjacce NpenHa3HaueH AJis
MPOBEPKHU 3HAHUH, MOJYYSHHBIX YUAITUMHUCS B T€UEHUE Y4eOHOTO ro/la U COCTaBJICH COTJIACHO
caenyromuM HopMatuBHBIM nokyMeHTaMm: OOIT OO0 u IlonoxeHue o mpoMeKyTOUHOM
aTTeCTaluu.

Conep-xanue:

1 KonTtponbHas pabora (Tect),
2. Konuguxkarop;

3. Kpurepuu oneHnBanus,

4. Knroun.

KonTponbHast padora (Tect) coctout u3 AByx dacteil. [lepsast qacte paboThl mpeqHa3HaueHA
AJIs IPOBEPKH HABBIKOB YTCHUA TCKCTA C U3BJICUCHUEM MOTHOM I/IH(bOpMaL[I/II/I. yLIaH_[I/IeCﬂ JOJI>KHBI
NPOYUTATh TCKCT U ONPEACTUTD, ABJIAKOTCH JIM HUKCTICPCUNCIICHHBIC YTBCPXKACHNA BEPHBIMU.

Bropas 4acTb MpeAHa3Ha4deHa [Js1 MPOBEPKU JIEKCUKO-TPAMMATUYECKUX HAaBBIKOB,
MOJIYYE€HHBIX B T€UEHUE yueOHOro roja. Y4aimmMcs: Hy KHO BBIOpaTh OIMH MPAaBUIIbHBIA BAPUAHT B

TECTC.

Ha BrimonHeHne KOHTPOIBHON paboTsl oTBOAUTCA 40 MHUHYT.



ENGLISH LANGUAGE TEST Form 9
The keys
Variant 1
Part I. Reading
1 2 5
2 3 3 2
Total — 5
Part II. Grammar and vocabulary
1 11 111 v
1. printed 1. visiting 1. of/about
2. sounded 2. apologise 2. for 1. 1-D
3. growing 3. getting up 3. from 2. 2-D
4. living 4. hiking 4. to 3. 3-B
5. to buy 5.in 4. 4-E
6. swimming 6. to 5. 5-A
7. go
8. to sell
9. shopping
10. doing
11. to visit
Total - 26
Variant 2
Part 1. Reading
1 2 5
1 3 4 4
Total — 5
Part II. Grammar and vocabulary
1 11 111 1V
1. farsinated 1. go 1. for 1. 1-C
2. built 2. to sell 2. of/about 2. 2-E
3. asked 3. shopping 3. from 3. 3-C
4. told 4. doing 4. to 4. 4-C
5. to visit 5.in 5. 5-A
6. visiting 6.1n
7. apologise
8. getting up
9. hiking
10. to buy
11. swimming
Total — 26

Sum-total: 31




Kpurepun ouenusanus:

Kaxxmoe mnpaBubHO BBIMOJHEHHOE 3amaHue oueHuBaercss B 1 Oami MakcumaibHoe
KOTMYECTBO OaJIIOB, KOTOpOEe MOXeT HadpaTh ywammiics 3a naHHyro padotry — 31 Oamm s
OLICHUBAHMS PE3YJbTATOB BBINOJHEHHBIX pPa0OT MOACYUTHIBAECTCA OOMmMMHA 0Oayui, KOTOPBIHA
dopmupyercs myTéM noacuéra od1mero Koun4ecTna 6aJuoB 3a BBINIOJIHEHHE KAKON 4acTH paboThI.
IIIxana mepeBoaa HaOpaHHBIX OAJIOB B OTMETKY:

31- 26 Gayuios = «5»
25 - 20 dayuios = «4»
19 - 16 Gaju1oB = «3»

Menee 16 dayuios = «2»

Konnduxarop TpeboBaHMiA K yPOBHIO MOATOTOBKH 00YHAIOLITHXCS.

Ne Kon ITPO IIposepsieMble yMeHUs
3ananHus
Pazpenl. |13 Yrenne
Urenue
1.3.1 YuTaTh HECIOXKHBIE AayTEHTUYHBIE aJaITUPOBAHHBIE TEKCThI PaA3HBIX
JKAaHPOB C MOJHBIM 1 TOYHBIM TOHUMAHUEM COAEP KaHUs.
134 Onpenenste TeMy (B TOM YHCIIE 110 3ar0JIOBKY ), BBIAEISITH OCHOBHYIO
MBICIIb
1.3.5 BoiensiTe rnaBHbIe (aKThI, OMyCKast BTOPOCTENEHHbIE
1.3.6 VY CcTaHaBIMBATh JIOTHYECKYIO TIOCIIEIOBATENIbHOCTh OCHOBHBIX (DaKTOB
TEKCTa.
1.3.7 Hcnonp30BaTh pa3iundHbIe TPUEMBI CMBICIIOBOH NIEpepadoTKU
TEKCTA: SI3bIKOBYIO TOTAJKY, AHAJIU3.
Pazgen2. | 2.3 I'pamMmaTHyecKkasi CTOPOHA pedu
11 23.11 Pacro3HaBath 1 ynoTpeOsaTh B peun KOHCTPYKLIUH C TJIaroyaMu
Ha -ing: to love/ hate doing something, Stop talking
v 23.16 Pacnio3HaBaTh 11 ynoTpeOIsATh B peUH II1aroiibl B CIEAYIOIINX
dopmax crpamarenapHOro 3anora: Present Simple Passive, Future
Simple Passive, Past Simple Passive
I 2.3.20 Pacnio3HaBath 1 ynoTpeOaTh B peun NPUYaCcTUs] HACTOSALIETO U
nporueamero spemenn (npuyacrue I u npugacrue 1)
2.4 Jlekcnueckasi CTOpOHA pedH
24.1 Pacnio3naBath 1 yrnoTpeOsiaTh B peun JIEKCHUYECKHE STMHUIIBL,
00CITy’KMBAIOIINE CUTYAllMH B PAMKaX TEMaTHKH HAYaJIbHOH U
OCHOBHOM IIKOJIbI




111 242 Pacnio3HaBath 1 ynoTpeOnaTe B peun HanOosee
pacnpoCTpaHEHHbIE YCTONUHBbIE CIOBOCOUETAHUS.

ENGLISH LANGUAGE TEST
FORM 9
VARIANT 1

Pasznea 1. Urenue
Read the text and do tasks after it

After inventing dynamite Swedish-born Alfred Nobel became a very rich man. However,
he realized its destructive powers too late. Nobel preferred not to be remembered as the inventor
of dynamite, so in 1895, just two weeks before his death, he created a fund to be used for
awarding prizes to people who made worthwhile contributions to mankind. Originally there were
five awards: literature, physics, chemistry, medicine and peace. Economics was added in 1968,
just sixty-seven years after the first awards ceremony.

Nobel's original legacy of nine million dollars was invested, and the interest of this sum is
used for tile awards which vary from $30,000 to $125,000.

Every year on December 10, the anniversary of Nobel's death, the awards (gold medal,
illuminated diploma and money) are presented to the winners.

No awards were presented from 40 to 1942 at the beginning of World War II. Some
people have won two prizes, but this is rare; others have shared their prizes.

L Answer the questions.
1. When did the first award ceremony take place?
1)in 1895 2)in 1901  3)in 1962  4)in 1968

2. Why was the Nobel prize established?

1) to recognize worthwhile contributions to humanity
2) to resolve political differences

3) to honor the inventor of dynamite

4) to spend money

3. In which area have people received awards since 19687
1) literature  2) peace 3) economics 4) science

4. In how many fields are prizes given?
1) four 2)five 3)six 4)ten

11. Find the wrong statement.

1) Alfred Nobel became a very rich man after inventing dynamite.
2) Nobel preferred to be remembered as the inventor of dynamite.
3) Awards vary in monetary value.

4) Some people have won two awards.






ENGLISH LANGUAGE TEST
FORM 9
VARIANT 2

Pasznea 1. Urenue
Read the text and do tasks after it

Charlie Chaplin

This is a story that Chaplin liked to tell about himself. It happened after the great actor
had become world famous.

A theatre announced that a competition would be held to see who could act like Charlie
Chaplin. Those taking part had to dress like Chaplin, walk like Chaplin and act one of the roles
in a Chaplin film.

When Charlie Chaplin heard about the competition he decided, as a joke, to take part in
the competition himself. Naturally, he kept his plan a secret from everybody.

When the results of the competition were announced Chaplin said: “1 didn't know
whether to feel angry or only surprised. I didn't win the first prize. But after thinking about it, I
decided that it would be best to laugh.”

1. Complete the statements according to the text.

1. This is a story which...

1) Chaplin was fond of telling.

2) is written by Chaplin's friend.

3) was announced at the competition.

4) happened before Chaplin had become world famous.

2. People who took part in the competition had to...
1) sing songs.

2) keep it a secret.

3) imitate Chaplin's manners.

4) dance.

3. When the results of the competition were announced Chaplin learnt that...
1) his new film was a success.

2) he had won the first prize.

3) he had not won the first prize.

4) he had won the second prize.

4. When Chaplin learnt the news lie decided...
1) to be angry.

2) to keep it a secret.

3) to tell everybody about it.

4) to laugh.

11. Find the right statement.

1) Chaplin didn't take part in the competition.
2) Chaplin didn't allow to held this competition.
3) Chaplin didn't know about the competition.
4) Chaplin didn't tell anybody about his plans.









